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English Language - 11

Find out the figure of speech in (1 & 2):

42. ‘The soldiers are real stars of a nation.’
(A) Simile (B) Metaphor

(C) Personification (D) Alliteration
43. ‘How though round about my house’
(A) Assonance (B) Metaphor
(C) Personification (D) Alliteration
44. How many Long Vowel Sounds are there in IPA/RP?

(A)5 (B) 8 (©) 20 (D) 13
45. Phonetic transcription of ‘Church’ is :
A/ 'T34] B/ 1341
©)/gngl D)/ 'yof/
46. Phonetic transcription of ‘Thigh' is:
(A)/ 'thal / (B)/'dal/
O /ea:ll (D)/'eall
47. Which of the following sound Is,not africative:
(A) /el (B)f
©)/b/ (D) /ol

48. Whi€h'is not the type of a sonnet :
(A)England Sonnet (B) Shakespearean Sonnet

(C) Spensarian Sonnet (D) Italian Sonnet

49. What is the rhyme scheme of ‘ Spensarian Sonnet’ ?
(A)d@babeded.efef gg
(Bjabbaahba-cdecde
(€pABAB - BCBC - CDCD - EE
(Dywene of thexabove

50 . Whieh'¥s not associated with-a drama ?
(A) seliloguy (B)monologue
(C)Personification (D) Irony

51. Which is not associated toshort story :

(A) Laisse (B) Fiction Stories
(C) Folk lore (D) Plots
42, TTATH 3F AR g ?
(A) 71 (B) <Mk
(©) gt (D) srf2
43, T + U SIH ARy fHhe ?
(A) o (B) oy
(C) Fomoig (D) =iy
44, FEINT ST B GRE P
(A) Tom (B) &
(C) wdwm (D) e
45. J—fAfdeey & g+ amg?
(A) the—arear] (B) dre—drear
(C) dre—dream (D) dre—vredr
46. AT 30F Ugwgq: WAgAfT ?
(A) &1 + T (B) 2@ + T
(C) <&@ + ST (D) 2fa + T
47. YIHFERGR A14 fo ?
(A) Frafafafer (B) URRIoIe:
(C) wfafer (D) TereeRfaf:
48. Wf2dMIS:, USUIS: SATCIT YA Hafd —
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